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This question paper has three Sections A, B and C. In Section A all questions are compulsory
and carry 10 marks each. In Section B candidates have to attempt only five
questions which carry 8 marks each. In Section C candidates have to
attempt only one question which carries 15 marks.
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Section —-A (ST A)

1. Suppose following data are given for an economy for the Budget in (Crore of Rupees):
Tax Revenue = 803516
“Non Tax Revenue = 187857
Recoveries of Loans = 12738
Other Receipts = 36637
Borrowings and other liabilities =410625
i. Find out the Capital Receipts

ii.  Find out the Revenue Receipts

iii.  Find out the Total Receipts

iv.  Explain the meaning of Budget Expenditure.
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2. Suppose for an economy the following Balance of Payments data is given for the year
2015-16 (in US $billion):
A. Current Account
[.  Exports = 145.6
H.  Imports =307.2
IIl. Invisibles(Net) =67.2
a) Services =45.3

b) Transfers=22.4
¢) Factor Income =- [0.5

B. Capital Account

I.  External Assistance = 0.2
II. ” ECBs=-0.9
Itl.  Short —term Debt =-1.2
IV.  Banking Capital =17.3
Of which:

Non —Residents Deposits =10.1

V. Foreign Investment = 7.9
a) FDI=16.7
b) Portfolio Investment = -8.7

V1  Other Flows = 1.0
Capital Account Balance =25.4
C. Errors and Omissions = - 0.4
Capital Account Balance (Including errors and omissions) = 24.9

i.  Find out the trade balance.
ii.  Find out the current account balance.
iti.  Find out the overall balance. _
iv.  Define the term Balance of Trade. 2.5 marks each
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2.5 marks each
Section —B (17T B)

3. What are the key provisions of the Paris agreement?
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Explain India's merchandise trade . What is the composition and direction of India's foreign
trade for the last five years
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Explain the structure of the revenue budget and the capital budget of the central
government.
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What is social infrastructure? Explain the trends in social sector expenditure.
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What is external debt? Explain the composition of India's external debt.
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What do the union budget documents explain? How are these documents studied?
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What is exchange rate? What is the impact of exchange rate volatility on India’s trade?

fafma <% 71 2?7 YT X @ IRadaNaT &1 9RT @ FUR R T T919 gSaT 87

What is human development index (HD1)? Explain India's position in the Global HDI 2014.
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Section —C (&r C)

What is the union budget? Explain the process of budget implementation in India.
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The Fourteenth Finance Commission was guided by the terms of reference and the
approach of the previous finance commissions. Explain it.
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What is the meaning of balance of payments? What has been the recent development of

capital account balances in India?
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